Pressure (hPa)

Pressure (hPa)

500
550
600
650
700

750
775
800
825
850
875
900
925
950
975

—#— Event 2
—>— Event 3
—S— Event 4
—~— Event 5
——=— Event 6
—<— Event 7

500
550
600
650
700
750
775
800
825
850
875
900

950

Pressure (hPa)

-15 -10 -5 0 5 10
Temperature (°C)

-20

975

15 20

—S— Event 1
—#— Event 2
—— Event 3
—o— Event 4
—~— Event 5
—=— Event 6
—<— Event 7

700

750
775
800
825
850
875
900
925
950

Pressure (hPa)

0 2 4 6 8 10
Wind speed (ms™)

975
12

: —f—Event 2
- =—&— Event 3
| —=— Event4
| =A— Event5
| =t— Event 6
- —<— Event7 X
T T T T T T T
20 -15-10 -5 0 5 10 15 20
Temperature (°C)
(d)
] —o— Event 1
. % —#— Event 2
_ —>— Event 3
< —o— Event 4
T —A— Event 5
_ —=— Event 6
—<— Event 7
] T T T T T
0O 2 4 6 8 10 12

Wind speed (m s™)



